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4. matlab P FEHIE :
(1) et AR EDR AR | BT RAR PR TE | Fr DL
Omegal =fs*w1; OmegaZ2 = fs*w2;

Omega3 =fs*w3; Omega4 = fs*w4;

FEEHI# fs = 2000HZ
FHERET
[N,Wn]=cheb1ord(Wp,Ws,Rp,Rs,'s');

[z,p.k] = cheb1ap(N,Rp); KHELIKEIEREES -

(2) FE @S bt,at] = Ip2bp(bb,aa,Wo,Bw)ifi%i 5= Bl L] (i 18
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Hrh :Wo = sqrt(Omega1*Omega2);
Bw = Omega2 - Omega?; JE{THIE L HLfE B T B S IE &5
(3) : KAk NI A%« F R4

[bz, az]=impinvar(bt,at,fs)
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uzs=sin(2*pi*451*nn)
AR [EHIESH:

uz = 0.5%cos(2*pi*21* nn) + uzs+ 2*si n(2*pi*1000* nn)



